
ASSEMBLY  INSTRUCTIONS
Model : B8032DT-WHT/BLK + D9026DC-GRY
              B8032DT-BLK+ D9026DC-SIL

No Description Diagram Quantity

A Table 1 pc

B Leg 4 pcs

NOTE : MUST TIGHTEN SCREWS PERIODCALLY WITH USE SCREW WILL BECOME LOOSE CHECK TIGHTNESS OF ALL SCREW EVERY 6-8 WEEKS.                                   

1 OF 2

No Description Diagram Size Quantity

1 JCBB Bolt M8 x 60mm 8 pcs

2 Spring Washer 5/16 '' 8 pcs

3 Flat Washer  5/16"IDx22mmOD 8 pcs

4 Allen Key M5 x 65mm 1 pc

PACKED IN  INSIDE TABLE

Description : Dining Table + Dining Chair

PART LIST : TABLE HARDWARE LIST

COMPLETE  ASSEMBLY

Thank you for purchasing this quality product.  Be sure to check all packing materials carefully for small parts,
that may have come loose inside the carton during shipment



NOTE : MUST TIGHTEN SCREWS PERIODCALLY WITH USE SCREW WILL BECOME LOOSE CHECK TIGHTNESS OF ALL SCREW EVERY 6-8 WEEKS.                                   
2 OF 2

STEP 1: Attach Table Dining Top (A) at soft surface

STEP 2: Attach Leg Post (B) at Table Marble Top (A)with Flat Washer (3),Spring Washer
(2) and JCBB Bolt (1) and tighten with Allen Key (4).

Soft Surface

4

3
2

1

B

A



ASSEMBLY  INSTRUCTIONS
Model :B8032DT-WHT/BLK + D9026DC-GRY

                                                         B8032DT-BLK+ D9026DC-SIL

No Description Diagram Quantity

A Back Rest 1 pc

B Front Leg 2 pcs

C Cuhsion Seat 1 pc

NOTE : MUST TIGHTEN SCREWS PERIODCALLY WITH USE SCREW WILL BECOME LOOSE CHECK TIGHTNESS OF ALL SCREW EVERY 6-8 WEEKS.                                   

1 OF 2

No Description Diagram Size Quantity

1 JCBB Bolt M8 x 80mm 4 pcs

2 JCBB Bolt M8 x 60mm 4 pcs

3 Spring Washer 5/16 '' 8 pcs

4 Flat Washer  5/16"IDx22mmOD 8 pcs

5 Allen Key M5 x 65mm 1 pc

PACKED IN INSIDE CHAIR

Description : Dining Table + Dining Chair

PART LIST : CHAIR HARDWARE LIST

COMPLETE  ASSEMBLY

Thank you for purchasing this quality product.  Be sure to check all packing materials carefully for small parts,
that may have come loose inside the carton during shipment



NOTE : MUST TIGHTEN SCREWS PERIODCALLY WITH USE SCREW WILL BECOME LOOSE CHECK TIGHTNESS OF ALL SCREW EVERY 6-8 WEEKS.                                   
2 OF 2

STEP 1: Align the cuhsion seat (C) to the Back Rest (A) by secure with JCBB Bolt (1) ,Spring
Washer (3) & flat washer (4) and tighten them with Allen Key (5)
(DO NOT TIGHTEN BOLTS DURING THIS STEPS)

STEP 2: Align Front Leg (B) into cusion seat (C) and fix with JCBB Bolt (2),Spring Washer
(3),Flat Washer(4) tighten them with Allen Key(5) as shown.

PUSH

C

A

1

3
4

X2
REMARK: 

  Back Rest (A) & Box Seat (C)
 must push and tighten. 5

A

C

5 2
3

4 X2
REMARK: 
Make sure all legs stable on
the floor surface before FULLY TIGHTEN
all the screw.
close bottom box set after tighten the screw.

B

C

A

REMARK: 
Open seat cover at bottom
box seat as shown


	8032B Ai pg1
	Sheets and Views
	Model


	8032B Ai pg2
	Sheets and Views
	Model


	9026 CHAIR-pg1
	Sheets and Views
	Model


	9026 CHAIR-pg2
	Sheets and Views
	Model



